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MR L-HE1- JdAFE

1 #include <stdio.h>

2

3 #define MAX_DEGREE 100

4

5 typedef struct {

6 int degree;

7 float coefsIMAX_DEGREE+1];
8 } Poly_Typel,;

9

10 void read_poly(Poly_Typel *eq_ptr);
11 void print_poly(Poly_Typel *eq_ptr);
12
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5 1-HM 1 - main()

13 /**********************************************************************************/

14 int main(void)

15 {

16 Poly_Typel eq_A, eq_B;
17

18 read_poly(&eq_A);
19 printf("AX) =");
20 print_poly(&eq_A);
21 printf("#n");

22

23 read_poly(&eq_B);
24 printf("B(x) = ");
25 print_poly(&eq_B);
26 printf("Wn");

27 }
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JHA[ 1 - & 1 - read_poly() (1)

28 /**********************************************************************************/

29 void read_poly(Poly_Typel *eq_ptr)

30 {
31
32
33
34
35
36
37
38
39
40

int i;

int end_of_input = 0;
int expon;

int answer;

eq_ptr->degree = -1;

eq_ptr->coefs[i] = 0,
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41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58 }

A 1 - & 1 - read_poly() (2)

while (lend_of_input) {
printf("Expon : ");
scanf("%d", &expon);

if (expon > eq_ptr->degree)
eq_ptr->degree = expon;

printf("Coef : ");
scanf("%f", &eq_ptr->coefs[expon]);

printf("more input ? (1 or 0) ");
scanf("%d", &answer);

if (answer == 0)
end_of_input = 1;
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R 1 - B 1 - print_poly( )

59 /**********************************************************************************/

60 void print_poly(Poly_Typel *eq_ptr)

61 {

62 int i;

63

64 for (i = MAX_DEGREE; i >= 0; --i) {

65 if (eq_ptr->coefs[i] != 0.) {

66 printf("+ %gX"%d ", eq_ptr->coefs[i], i);
67 }

68 }

69 }
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1 #include <stdio.h>

2

3 #define MAX_DEGREE 100

4

5 typedef struct {

6 int degree;

7 float coefsfMAX_DEGREE+1];
8 } Poly_Typel,;

9

10 int read_poly(Poly_Typel *eq_ptr);
11 void print_poly(Poly_Typel *eq_ptr);
12
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5 1 - M 2 — main()

13 /**********************************************************************************/

14 int main(void)

15 {
16
17
18
19
20
21
22
23
24
25
26
27
28
29 }

Poly_Typel eq_A, eq_B;

if (read_poly(&eq_A)) {
printf("AX) =");
print_poly(&eq_A);
printf("#n");

if (read_poly(&eq_B)) {
printf("B(x) = ");
print_poly(&eq_B);
printf("#n");
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A 1 - A 2 — read_poly() (1)

30 /**********************************************************************************/

31 int read_poly(Poly_Typel *eq_ptr)

32 {
33
34
35
36
37
38
39
40
41
42
43
44

int i;

int end_of_input = 0;
int input_error = 0;
int expon;

char answer;

/* Ctd Al &=7(31 */
eq_ptr->degree = -1;

eq_ptr->coefs[i] = 0,
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45
46
47
48
49
50
51
52
53
54
55
56
57
58
59
60
61
62
63
64

A 1 - A 2 — read_poly() (2)

1L

/RSN B Bt 92

while (lend_of_input && linput_error) {

printf("Expon : "); /] K|2=2 5 olg
if (scanf("%d", &expon) == 1) && (expon <= MAX_DEGREE) && (expon >= 0)) {

if (expon > eq_ptr->degree) { // CtetAlO] Xt~ N 2|
eq_ptr->degree = expon;

}

printf("Coef - *); /] 7t F2 Y E
if (scanf("%f", &eq_ptr->coefs[expon]) == 1) {
getc(stdin); // =X} 218 PO M LFR return 22X A2

printf("more input ? (y or other) ");
scanf("%c", &answer);
if (answer !="y") {
end_of_input = 1;
}
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65 else {

66 printf("EHREl 7t = A QL|Chin");
67 input_error = 1;

68 }

69 }

70 else {

71 printf("& 2 =l gr &£
72 input_error = 1;

73 }

74 }

75

76 if end_of input) {  // MAEMO= ¢2f0| B HL
77 return 1;

78 }

79 else { /] 8 AEOAM FTL ZAo 42
80 return O;

81 }

82}
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IEA[ 1 - B 2 = print_poly( ) (1)

83 /**********************************************************************************/

84 void print_poly(Poly_Typel *eq_ptr) e
85 {

86 int i;

87 int is_first = 1;

88

89 for (i = eq_ptr->degree; i >= 0; --i) {

90 if (eq_ptr->coefs[i] != 0.) {

91 if (is_first) { [/ R EHE o T8 FH2 R 0|85t By
92 is_first = 0;

93 }

94 else { // 3 20| Ot BR +E HA|
95 if (eq_ptr->coefs[i] > 0.)

96 printf (" +");

97 else

98 printf (" ");

99 }

100 }
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N 1 -

101
102
103
104
105
106
107
108
109
110
111
112
113
114
115
116
117
118
119
120
121}

Ll

if (i >0){ // XAndAog =9

if (eq_ptr->coefs[i] == 1.0) { // LHIA
printf("X");

}

else if (eq_ptr->coefs[i] == -1.0) {
printf("-X");

}

else {
printf("%gX", eq_ptr->coefs]i]);

}

if (i >1)({
printf ("A%d", i);

// XAnOf| A n
}

}

else {/*i==07%

printf("%g", eq_ptr->coefs[i]);
}

H & 2 — print_poly( ) (2)

o2 10Ut -1 A2k

oAl H e
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A 2

1 #include <stdio.h>
2 #include <limits.h>

3

4 #define MAX_ELEMENTS 100
5

6 typedef struct {

7 float coef;

8 int exp;

9 } Poly_Element;

10

11 Poly_Element poly_elements[MAX_ELEMENTS];
12
13 int avail Index = 0O;

14

15 typedef struct {
16 int start;
17 int end;
18 } Poly_Type2;
19

20 /**********************************************************************************/

21 int read_poly(Poly_Type2 *eq_ptr);
22 void print_poly(Poly_Type2 *eq_ptr);
23
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5| 2 — main()

24 /**********************************************************************************/

25 int main(void)

26 {
27
28
29
30
31
32
33
34
35
36
37
38
39
40 }

Poly_Type2 eq_A, eq_B;

if (read_poly(&eq_A)) {
printf("AX) =");
print_poly(&eq_A);
printf("#n");

if (read_poly(&eq_B)) {
printf("B(x) = ");
print_poly(&eq_B);
printf("#n");
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41 /**********************************************************************************/

A 2 — read_poly() (1)

42 int read_poly(Poly_Type2 *eq_ptr) —

43 {
44
45
46
47
48
49
50
51
52
53
54
55
56
57

int old_avail_index = avail_Index; // avail_Index : Global Variable
int min_expon = INT_MAX;

int end_of_input = 0;

int input_error = 0;

int expon;

float coef;

char answer;

eq_ptr->start = avail_Index;

while (lend_of_input && linput_error) {
printf("Expon : ");
if ((scanf("%d", &expon) == 1) && (expon < min_expon) && (expon >= 0)) {
min_expon = expon; // YEIXt=o 2 8ty| 2|ot H
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59
60
61
62
63
64
65
66
67
68
69
70
71
72
73
74
75
76
77
78

A 2 — read_poly() (2)

printf("Coef : ");
if (scanf("%f", &coef) == 1) {

poly_elements[avail_Index].coef = coef;
poly_elements[avail_Index].exp = expon;

getc(stdin);
printf("more input ? (y or other) ");
scanf("%c", &answer);
if (answer !="y") {
end_of_input = 1;
}

if (avail_Index < MAX_ELEMENTS) {
++avail_Index; // MAH= avail_Index =8

}

else { /St BEFL=2 YH
end_of_input = 1;

OR¥

=

1

}
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A 2 — read_poly() (3)
79 else {
80 input_error = 1; -
81 }
82 }
83 else if (expon >= min_expon) {
34 printf ("HXE X gLULICE YEA| LR X2 = R HSHA 2.wWn")
85 }
86 else if (expon < 0) {
87 printf ("X E X[ ZLICL X|5== 0 0| 40|0{OF L|CE¥n");
88 }
89 else {
90 input_error = 1;
91 }
92 }
93
94 if (end_of_input){  // d&E¥oz Y2 O 2 OpX[2 & (X %
95 eq_ptr->end = avail_Index - 1;
96 return 1;
97 }
98 else { /1 28 IEOM LRI 2ot B3R 2 & Fa
99 avail_Index = old_avail_index;
100 return O;
101 }
102}
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K| 2 - print_poly() (1)

103 /**********************************************************************************/

104 void print_poly(Poly_Type2 *eq_ptr)

105 {
106
107
108
109
110
111
112
113
114
115
116
117

int I;
int is_first = 1;

for (i = eq_ptr->start; i <= eq_ptr->end; i++) {

if (i > eq_ptr->start) {
if (poly_elements[i].coef > 0.)
printf (" +");
else
printf (" ");
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K| 2 - print_poly() (2)

118 if (poly_elements[il.exp > 0) {

119 if (poly_elements[i].coef == 1.0)

120 printf("X");

121 else if (poly_elements|i].coef == -1.0)
122 printf("-X");

123 else

124 printf("%gX", poly_elementsli].coef);
125

126 if (poly_elements[il.exp > 1)

127 printf ("A%d", poly_elements[i].exp);
128 }

129 else {

130 printf("%g", poly_elements[i].coef);

131 }

132

133 }

134}
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